
   

  

      (DENG 1) 

B.A./B.Com./B.Sc./B.B.A./B.H.M./B.B.M. DEGREE EXAMINATION, NOVEMBER 2021. 

First Year  

ENGLISH PAPER – I 

Time : Three hours              Maximum : 70 marks 

SECTION – A  

Analysis Skills 

1. (a) Read the following passage and answer the questions :         (5 × 1 = 5) 

  Do you ever worry about your memory? Perhaps you go into a room and forget what you 

came for, or may be something on the tip of your tongue, but you can’t get it off. Don’t 

worry. You are perfectly normal. It is the nature of the mind to forget – and the nature 

of man to worry about forgetfulness.  

  Human beings have a prodigious memory. In a few cubic centimeters the brain stores 

more information that can be stored in a large computer. Today neurologists, 

psychologists and biologists are studying the different aspects of memory.  

  There are two types of memory. Short-term memory lasts only for seconds you look up a 

telephone number and remember it long enough to dial. Long-term memory is stored 

probably for life.  

  (i) Give two instances of forgetfulness 

  (ii) How much information can the brain store? 

  (iii) What are the two types of memory? 

  (iv) Give an instance of short-term memory. 

  (v) Human beings have a ––––––––– memory. 

 (b) Read the passage and answer by choosing the right answer :                   (5 × 1 = 5) 

  The students were asked to offer an explanation about why they had been absent. One 

said that he had an attack of headache and therefore could not come to school. He was 

asked to bring a medical certificate. The second one said that some-one had told him 

that there was no school, so he had gone back home. The head master replied that if he 

was going to listen to every loafer who said there would be no school, be deserved to be 

flogged. The punishment was pronounced-ten days attendance cancelled, two rupees 

fine, and the whole day to be spent on the desk. 

  (i) What were the students being questioned about? 

   (1) to explain 

   (2) for being absent 

   (3) for attendance 

   (4) about fine. 



   

  (ii) The first student was asked to bring –––––––––. 

   (1) two rupees  

   (2) medical certificate 

   (3) attendance 

   (4) desk 

  (iii) The second student deserved to be flogged because he listened to  

   (1) all students 

   (2) every loafer 

   (3) headmaster 

   (4) teacher 

  (iv) What punishment was given to the student?  

   (1) ten days attendance cancelled 

   (2) two rupees fine 

   (3) whole day on the desk 

   (4) all the above 

  (v) The author wants to show that  

   (1) students often fall ill 

   (2) students make up all sorts of excuses to explain their absence from school 

   (3) students are punished by teachers, unnecessarily 

   (4) students play in the ground. 

2. (a) Correct the following sentences :                      (5 × 1 = 5) 

  (i) Each boy and each girl get a turn. 

  (ii) One should mind his tongue. 

  (iii) Justice as well as compassion allow it. 

  (iv) The furniture are new in this house. 

  (v) The economics is a difficult subject. 

 (b) Rewrite as directed :           (5 × 1 = 5) 

  (i) I will convince him. (change the voice) 

  (ii) Whoever is honest is respected. (change into a simple sentence) 

  (iii) Madras is one of the biggest cities in India. (change to positive degree) 

  (iv) He said to me ‘I am happy to be married’. (change into Indirect speech) 

  (v) My father was an engineer. (Add a question tag) 

 (c) Change into direct speech :                                  (2 × 1 = 2) 

  (i) He told me that the earth is round. 

  (ii) He asked me how my father was. 

  



   

 (d) Fill in the blanks with correct forms of the verbs in the brackets :         (5 × 1 = 5) 

  (i) One of my teachers ––––––––– (belong) to my village. 

  (ii) These scissors ––––––––– (be) not sharp. 

  (iii) His uncle and aunt ––––––––– (have) a house in the town. 

  (iv) They shall ––––––––––– (do) the job. 

  (v) The director ––––––––– (live) in a large bungalow. 

 (e) Fill in the blanks with suitable words given at the end :          (5 × 1 = 5) 

  (i) The girl ––––––––– with perfect truthfulness. 

  (ii) I ––––––––– Milton to my great benefit. 

  (iii) Marlowe was a ––––––––– of great promise. 

  (iv) She ––––––––– me with a smile. 

  (v) She ––––––––– reading a book. 

  (replied, enjoys, writer, greeted, read) 

 (f) Rewrite the following  set of jumbled sentences to a coherent passage :                    (3) 

  (i) One day it was very thirsty and was searching for water. 

  (ii) At last it found a pot and water in it. 

  (iii) There was a crow living in a tall and shady tree. 

  (iv) It had sufficient food to eat and water to drink. 

  (v) But rains failed and it was difficult to find water. 

 (g) Write three exchanges between a customer and a sales girl showing garments of 

different varieties.              (3) 

 (h) Write a paragraph using the following hints :                                               (3) 

  Science affects lives – applications varied – influences opinions – dispels superstitions – 

leads to control on nature – develops logical unbiased thinking. 

 (i) Write in about 100 words on any ONE :                                  (3) 

  (i) Internet – boon or bane 

  (ii) Environment pollution 

  (iii) Physical activity in present day world. 

SECTION – B  

(Descriptive Skills) 

3. Write an essay on ONE :                                            (1 × 5 = 5) 

 (a) Narrate in brief the ‘neighbours’ reactions to the news about the cobra in ‘A Snake in 

the Grass’. 

 (b) Give a character sketch of Dorothy clandon. 

 (c) What advice does Bronowski give to the layman about Science? 

  



   

4. Write short notes on any THREE :           (3 × 3 = 9) 

 (a) Who according to John Milton leads him to his destiny? 

 (b) What is Edmund Waller’s opinion about women? 

 (c) How does the train symbolise the progress of mankind in ‘The Express’. 

 (d) How, according to John Masefield, can the world be made better in ‘Laugh and  

Be Merry’? 

 (e) Why is it difficult to kill a tree according to Gieve Patel? 

5. Write an essay on ONE :                      (1 × 4 = 4) 

 (a) Describe the life of refugees as described by Pearl Buck. 

 (b) Why did Mrs. Sappleton keep the window open in ‘The Open Window'? 

 (c) Bring out the irony in ‘The Fortune - Teller’. 

6. (a) Explain any TWO :           (2 × 2 = 4) 

  (i) “I’ll buy you another gold watch”. 

  (ii) “I take up my task in buoyancy and hope”. 

  (iii) ‘You are well enough I hope now and will be quite fit soon’. 

 (b) Explain any ONE :           (1 × 4 = 4) 

  (i) How small a part of time they share. 

  (ii) Laugh till the game is played : and be you merry, my friends. 

——————— 



   

     (DTEL1) 

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, NOVEMBER 2021. 

First Year 

TELUGU PAPER – I 

Time : Three hours  Maximum : 70 marks 

1. D {Mìü…¨ Ðé°ÌZ JMæü ç³§éÅ°Mìü {ç³†ç³§éÆæÿ® ™é™èþµÆæÿÅÐèþ$$ {ÐéÄæý$$Ðèþ$$: (6) 

 (a) ¯èþ$™èþfË ç³NÇ™èþ…º$ËVæü$ è̄þ*™èþ$Ë$ è̄þ*ÇsìýMæü…sñý çÜ* è̄þÍ™èþ 

  {Ðèþ™èþ Äñý$$ Mæü»ê ÑÐóþ$Ë$ Ðèþ$Ç»êÐèþ#Ë$ è̄þ*ÇsìýMæü…sñý ¯öMæüPçÜ 

  {™èþP ™èþ$Ðèþ¨ Ðóþ$Ë$ ™èþ{™èþP™èþ Ôèý™èþ…º$ è̄þ Mæü…sñýçÜ$™èþ…yæþ$Ðóþ$Ë$™èþ 

  ™èþ$Þ™èþ$ Ôèý™èþMæü…º$ Mæü…sñý ¯öMæüPçÜ* è̄þ$™èþÐéMæüÅÐèþ$$Ðóþ$Ë$ è̂þ*yæþVæü Œ̄þ 

 (b) Mæü…§æþMæü V>k ÐéÆæÿMæüÑM>çÜÐèþ$$ §æþç³µMæü Ðèþ$…§æþà çÜ ° 

  çÙÅ…§æþÐèþ$$ ð̂þMæü$P r§æþªÐèþ$$Ë gêÆæÿMæü ð̄þÐèþ$Ã¨°{§æþÐøÐèþ# è̄þ 

  rÏ…§æþÐèþ$$ ¯ö…§ðþ«§é{† íÜÇÄæý*âæý Mæü$Ðèþ*Ææÿ$° Ðèþ[Mæü¢̂ èþ…{§æþ$yé 

  ¯èþ…§æþÐèþ$$¯ö…§ðþ è̄þç³µyðþË¯éVæüÐèþ$ è̄þ…º$ è̄þ$ ¿æýÆæÿ¢_™èþ¢Ðèþ$$ Œ̄þ 

2. D {Mìü…¨ Ðé°ÌZ "A' ¿êVæü… è̄þ$…yìþ Æðÿ…yìþ…sìýMìü "B' ¿êVæü… è̄þ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$ {ÐéÄæý$$Ðèþ$$. 

    
 (4 × 2 = 8) 

A & ¿êVæü… 

 (a) Ðèþsìýt Ýë«§æþ$ÅËMæü$ è̄þ$ º$sìýt̄ èþÆÿ$$…yæþÏ̄ èþ$ ò³§æþªM>ËÐèþ$$°Mìü ™èþ§æþª§æþVæü§æþ$ 

 (b) çßýÆæÿ$° ÐéMæüÅÐèþ$$ V> è̄þ è̄þ¨ Äôý$Ë ™èþç³š 

 (c) ´ùr$ è̄þ Mìü^èþaW…™èþÆöMö ´ù§æþ$ÆøM> è̄þË è̄þ$…yæþ è̄þ^èþ$Å™é 

 (d) KWÆæÿÐèþ$$Væü çÜ$™èþ$° ^èþ…ç³# r$_™èþÐðþ$ Ò$Mæü$ Œ̄þ 

B & ¿êVæü… 

 (a) Ððþ è̄þMæüç³yìþ™ðþ Ððþ è̄þMóü ¯øÄŒý$ 

 (b) MæüÑ™èþMæü$ ò³…yìþÏ ç³…¨âæý$å Mæüí³µ… è̂þ$¯éyæþ$ 

 (c) íÜÇÄñý$ ¿ZVøç³ Ë¼ª° iÐèþVæü‚ýÊ 

 (d) {ç³ç³… è̂þÐèþ$$ è̄þMæü$ »Zf è̄þÐèþ$$ ò³r$tÐé°Mìü ¿æý$†¢Ìôý§æþ$ 



   

3. D {Mìü…¨ Ðé°ÌZ "A' ¿êVæü… è̄þ$…yìþ JMæü §é°Mìü "B' ¿êVæü… è̄þ$…yìþ JMæü §é°Mìü ÐéÅçÜÆæÿ*ç³ çÜÐèþ*«§é è̄þÐèþ$$ {ÐéÄæý$$Ðèþ$$. 
    (2 × 6 = 12) 

A & ¿êVæü… 
 (a) †MæüP¯èþ Ææÿ^èþ¯èþÌZ° ç³Ç©Ðèþ è̄þ… ÑÐèþÇ…^èþ…yìþ. 

 (b) ÕÐèþ´ëÆæÿÓ™èþ$Ë$ _Ææÿ$™ö…yæþ¯èþ…¼ §æþ…ç³™èþ$Ë è̄þ$ ç³È„ìü…_ è̄þ Ñ«§æþÐèþ$$ è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

B & ¿êVæü… 
 (a) »ñýfjÐèþ$à§óþÑ çßý–§æþÄæý*°² ´ëË$PÇMìü _{†…_¯èþ Ñ«§æþÐèþ$$ è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

 (b) }Mæü–çÙ$~° »êËÅ {MîüyæþË è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

4. D {Mìü…¨ Ðé°ÌZ "A' ¿êVæü… ¯èþ$…yìþ JMæü §é°Mìü "B' ¿êVæü… è̄þ$…yìþ JMæü §é°Mìü çÜÐèþ*«§é è̄þÐèþ$$ {ÐéÄæý$$Ðèþ$$. 
    (2 × 6 = 12) 

A & ¿êVæü… 

 (a) Væü$Ææÿgêyæþ A´ëµÆ>Ðèþ# V>ÇMìü MæüË §óþÔèý ¿æýMìü¢° ÑÐèþÇ…ç³#Ðèþ$$. 

 (b) Mæü–ïÙÐèþË$° iÑ™èþ çÜÓ¿êÐéË è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

B & ¿êVæü… 

 (a) Mìü ð̄þ²ÆæÿÝë° ¿æýÆæÿ¢ò³O {ç³Mæüsìý…_ è̄þ {õ³Ðèþ$¿êÐéË è̄þ$ ÐèþÇ~… è̂þ…yìþ. 

 (b) Væü¼¾Ë…ÌZ gêçÙ$Ðé V>Ææÿ$ õ³ÆöP è̄þ² AÆæÿ$…«§æþ† çÜ$™èþ$° Ðèþ–™é¢…™é°² ÑÐèþÇ…^èþ…yìþ. 

5. D {Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐèþ*«§é è̄þÐèþ$$ {ÐéÄæý$$Ðèþ$$. (2 × 6 = 12) 

 (a) Mæü–çÙ~Ðèþ$*Ç¢ ´ë{™èþ {MæüÐèþ$ ç³Ç×êÐèþ$Ðèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 
 (b) M>Ìê¡™èþ ÐèþÅMæü$¢Ë$ è̄þÐèþË §éÓÆ> Ææÿ^èþÆÿ$${† çÜÐèþ*gê°Mìü C_a è̄þ çÜ…§óþÔèýÐóþ$Ñ$? 

 (c) M>Ìê¡™èþ ÐèþÅMæü$¢Ë$ Mæü£æþÌZ° ™é†ÓMæü §æþ–íÙt° ÑÐèþÇ…ç³#Ðèþ$$. 
 (d) M>Ìê¡™èþ ÐèþÅMæü$¢Ë$ ¯éÐèþ$ÝëÆæÿ¦MæüÅÐèþ$$ è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

6. D {Mìü…¨ Ðé°ÌZ I¨…sìý° Ñyæþ©íÜ çÜ…«̈  M>ÆæÿÅÐèþ$$Ë è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. (5 × 2 = 10) 
 (a) Væü$×êËÄæý$$yæþ$ 

 (b) «§æþÆóÿÃ™èþÆæÿ$yæþ$ 

 (c) A™èþÅ…™èþÐèþ$$ 
 (d) ™èþ´ù«§æþ è̄þ$Ë$ 

 (e) CMæü$PÐèþ*Ææÿ$yæþ$ 

 (f) ™èþ¯èþÃÄæý$™èþ 
 (g) MæüÐèþ$Ìê…™èþÆæÿ…Væü 

 (h) ç³ÆæÿÐóþ$Ôèý$yæþ$ 

 (i) A¯é²† 

 (j) ´ù™èþ´ëÆæÿVæü 



   

7. D {Mìü…¨ Ðé°ÌZ I¨…sìýMìü Ñ{Væüçßý ÐéMæüÅÐèþ$$Ë$ {ÐéíÜ çÜÐèþ*çÜÐèþ$$Ë è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. (5 × 2 = 10) 

 (a) ±Möyæþ$Mæü$ 

 (b) ´ëËÒ$VæüyæþË$ 

 (c) ò³§æþª»ê è̄þË$ 

 (d) ç³#×êÅ^éÆæÿ$yæþ$ 

 (e) Ðèþ$*yæþ$Mæü è̄þ$²Ë$ 

 (f) Mæü‚ýMæü…uæÿ$yæþ$ 

 (g) Ðèþ*Ñ$yìþç³…yæþ$ 

 (h) f¯èþç³† 

 (i) çÜÆæÿíÜf¯é¿æý$yæþ$ 

 (j) Ðèþ$…_^ðþyæþzË$ 

———————— 



   

     (DSAN 1 (NR)) 

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, NOVEMBER 2021. 

First Year 

SANSKRIT PAPER – I (NR) 

Time : Three hours   Maximum : 70 marks 

Answer the following.  (3 × 8 = 24 marks) 

1. (a) Explain in brief the Glory of Kavya of Valmiki. 

  dmë_rHo$… H$mì`gwf_m§ g§jonoU {bIV& 

Or/AWdm 

 (b)  Explain the qualities of scholars as prescribed in ViduraNeeti not exceeding 300 words. 

   {dXþaZrVm¡ à{Vnm{XVarË`m npÊS>VbjUm{Z 300 {_Vofw nXofw {dd¥UwV? 

2. (a) Describe the words of companion of Parvathi with celebrity. 

  nmd©Ë`m… gIr O{Q>b§ à{V {H$_wdmM dU©`V²& 
Or/AWdm 

 (b)  Write the story of _¥VmoÁOrdZ_²&  

   _¥VmoÁOrdZ§ Z_monm»`mZ§ {bIV& 

3. (a) Describe the six seasons as prescribed in the Text. 

  nmR>ç^mJ_Zwg¥Ë` föV²Z² dU©̀ V& 

Or/AWdm 

 (b)  Write the story of Wise Rabit. 

   MVwa… eeH$… B{V H$Wm§ {bIV& 

4. Answer any FOUR (4) of the following with reference to context.  (4 × 3 = 12) 

 MËdm[a ggÝX^ª ì`m»`mV& 

 (a)  XmZmÜ``ZerbmíM g§`VmíM à{VJ«ho& 

 (b) {_Ì_² Ûo{ï> {hZpñV M& 

 (c) _Zr{f{^… gmánXrZ_wÀ`Vo& 

 (d) {Ûf{Îm _ÝXmíM[aV§ _hmË_Zm_²& 

 (e) g{Md, Z¡fmo@_wî` _¥Ë`wg_`…& 

 (f) j{UH${_{V g_ñV§ {d{Õ g§gmad¥Îm_²& 

 (g) [aº$nm{UV©ní`oVw VWm Z¡{_{ÎmH§$ Z¥n_²& 

 (h) XÿVm_wIm {h amOV… gd© Ed& 



   

5. Translate any TWO (2) into English or Telugu.  

      (2 × 3 = 6) 

 Ûo AmÝY«̂ mfm`m§ dm Am“b^mfm`m§ dm AZwdmXV& 

 (a) `ñ` H¥$Ë`§ Z OmZpÝV _ÝÌ§ dm _pÝÌV§, nao& 

  H¥$V_odmñ` OmZpÝV g d¡ npÊS>V CÀ`Vo&&  

 (b) VËdk… gd©̂ yVmZm§ `moJk… gd©H$_©Um_²& 

  Cnm`kmo _Zwî`mUm§ Za… npÊS>V CÀ`Vo&& 

 (c) AH$m_mZ² H$m_`{V `… H$m_`mZmZ n[aË`OoV²& 

  ~bdÝV§ M `mo Ûo{ï> V_mhþ _y©T>MoVg_²&& 

 (d) A{_Ì§ Hw$ê$Vo {_Ì§ {_Ì§ Ûo{ï> {hVpñV M& 

  H$_© Mma^Vo Xþï>§ V_mhþ_y©T>MoVgm_²&& 

   

6. (a)  Write the forms of any THREE (3) in the other numbers of given persons : (3 × 2 = 6)  

  Ì`mUm§ VÎ„H$maofw YmVw ê$nm{U {bIV& 

   (i) ^dVw  (ii) JÀN>oV² 

   (iii) ñWmñ`{V (iv) Aní`V² 

   (v) Ab^V(vi) _mo{Xî`Vo 

   (vii) a_Vo  (viii) dÝX¡ 

 (b)  Decline any FOUR (4) as per the case ending.     (4 × 2 = 8) 

   MVwUmª VÎm{Û^{º$fw eãXê$nm{U {bIV& 

   (i) Xod¡  (ii) ^mZwZm 

   (iii) {nÌo  (iv) ZXr_² 

   (v) \$bñ`  (vi) dm[a 

   (vii) Jdm  (viii) H$dm¡& 

 (c)  Combine any FOUR (4) SANDHI'S.      (4 × 2 = 8) 

   MËdm[a gÝYÎm& 

   (i) am_ + AVwO … (ii) _hm + B©e… 

   (iii) B{V + Amh… (iv) nm¡ + AH$… 

   (v) VV² + Q>rH$m (vi) fQ²> + _wI… 

   (vii) H$… + {MV² (viii) VV² + b`… 

 

 

 

 



   

 (d)  Dissolve any THREE (3).       (3 × 2 = 6) 

   Ì`mUm§ {dJ«hdmŠ`m{Z {bIV& 

   (i) g_j_²  (ii) J«m_JV… 

   (iii) `ynXmê$  (iv) nmn^`_² 

   (v) grVmn{V… (vi) AkmZ_² 

   (vii) ZrbmoËnb_² (viii) {Ì^wdZ_² 

_______________ 



   

     (DHIN 1(NR)) 

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, NOVEMBER 2021. 

First Year 

HINDI PAPER – I (NR) 

Time : Three hours   Maximum : 70 marks 

SECTION — A   

1. {H$Ýht VrZ H$s gÝX^© g{hV ì`m»`m H$s{OE&  (3 × 3 = 9) 

 (a) gm{hË` H$s Xþ{Z`m _| ahñ`dmXr Ord `{X H$moB© h¢ Vmo do {ZíM` hr EH$ Vah Ho$ AmbmoMH$ h¢& 

 (b) B©î`m© H$s ~‹S>r ~oQ>r H$m Zm_ {ZÝXm h¢& Omo ì`{º$ B©î`m©bw hmoVm h¢, dhr ì`{º$ ~wao {H$ñ_ H$m {ZÝXH$ ^r hmoVm h¢& 

 (c) H${d H$m g~go ~‹S>m JwU ZB©-ZB© ~mVm| H$m gyPZm h¢& CgHo$ {bE H$ënZm H$s ~‹S>r Oê$aV h¢& 

 (d) Hw$N> boZo H$m _Vb~ Wm eof g~-Hw$N> H$mo N>mo‹S> XoZm& na _¢ Hw$N> ^r Zht N>mo‹S>Zm MmhVm Wm& 

 (e) H$m{bXmg Am¡a ^d^y{V H$m g§ånyU© àXò  ^maVr` dñVw h¢, dh {H$gr àXoe H$m CÎmam{YH$mar Zht& 

SECTION –– B 

2. {H$gr EH$ nmR> H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

 (a) A{V{W& 

 (b) bÁOm Am¡a ½bm{Z&   

3. {H$gr EH$ nmR> H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

 (a) AmnZo _oar aMZm n‹T>r? 

 (b) gmoZm {haZr&  

4. {H$gr EH$ H$hmZr H$m gmam§e {deofVmAm| g{hV {b{IE& (10) 

 (a) CgZo H$hm Wm& 

 (b) nwañH$ma&  

5. (a) AZwdmXH$ H$s Zm¡H$ar Ho$ {bE à~ÝYH$ Ho$ Zm_ na nÌ {b{IE&  

   (10) 

AWdm 

 (b) AmnHo$ _wh„o H$s J§XJr Ho$ {df` _| ZJanm{bH$m Ho$ A{YH$mar H$mo nÌ {b{IE&  (10) 



   

6. {H$Ýht Xmo àíZm| H$m Odm~ Xg n§{º$`m| _| {b{IE&  (2 × 3 = 6) 

 (a)  ""bhZmqgh'' H$m M[aÌ {MÌU H$s{OE 

 (b)  ""R>mHw$a H$m Hw$Am±'' H$hmZr H$m Š`m CÔoí` h¢& 

 (c)  ""amoO'' H$hmZr H$m grf©H$ H$s gmW©H$Vm na àH$me S>m{bE& 

 (d)  ""em_ZmW'' H$m M[aÌ {MÌU H$s{OE& 

7. g~ àíZm| H$m CÎma {bIZm A{Zdm`© h¢& (10 × 1 = 10) 

 (a) H${d H${dVm {bIZo h¢& (""qbJ'' ~XbH$a {b{IE) 

 (b)  b‹S>H$m emoa _MmVm h¢& (""dMZ'' ~XbH$a {b{IE) 

 (c)  CgZo Am_ Im`o& (dmÀ` ~XbH$a {b{IE) 

 (d)  ZaoÝÐ nmR> n‹T>Vm h¢& (^{dî` H$mb _| {b{IE) 

 (e)   _mohZ nmR> {bIVm h¢& (VmËH$m{bH$ dV©_mZH$mb _| ~X{b`o) 

 (f)  _¢ Zht MbVm& (dmÀ` ~XbH$a {b{IE) 

 (g)   H$_bm AÀN>r Kr bmVr h¢& (ewÕ H$s{OE) 

 (h)  _¡ Ka OmVm h¢& (ewÕ H$s{OE)   

 (i)  gabm CnÝ`mg n‹T>o²Jr& (dV©_mZH$mb _| {b{IE&) 

 (j)  (Document) Bg eãX H$m AW© {hÝXr  _| {b{IE& 

8. {H$Ýht Xmo eãXm| H$m AW© {hÝXr _| {bIH$a dmŠ`m| _| à`moJ H$s{OE& 

(2 × 2 1/2 = 5) 

(a) hdZ& 

 (b) AkmZm§YH$ma& 

 (c) Xþ{^©j& 

 (d) nW-àXe©H$& 

 (e) AmÚ§V& 

—————— 

 



   

     (DICS1) 

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, NOVEMBER 2021. 

First Year 

I.H.C. 

Time : One and half hours  Maximum : 50 marks 

SECTION A — (2 × 13 = 26 marks) 

Answer any TWO of the following. 

Write an essay on : 

1. Harappan Culture. 

 çßýÆæÿ´ëµ çÜ…çÜP –†° ÑÐèþÇ…ç³#Ðèþ$$. 

2. Write an essay on cultural glory during Gupta Period. 

 Væü$ç³#¢Ë M>Ë… ¯ésìý  Ýë…çÜP –†Mæü ÐðþO¿æýÐèþÐèþ$$ è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

3. Write an essay on western impact on Indian Education. 

 ¿êÆæÿ¡Äæý$ Ñ§éÅ ÐèþÅÐèþçÜ¦ ò³O ´ëÔ>a™èþ$ÅË {ç³¿êÐèþÐèþ$$ è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

4. Write an essay on the contribution of Brahma Samaj to Indian Society. 

 ¿êÆæÿ™èþ çÜÐèþ*fÐèþ$$ è̄þMæü$ {ºçßýÃ çÜÐèþ*fÐèþ$$ A…¨…_ è̄þ õÜÐèþË è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

5. Describe the influence of Mahatma Gandhi in Indian National Movement. 

 ¿êÆæÿ™èþ gê¡Äñý*§æþÅÐèþ$Ðèþ$$ÌZ V>…«©i {ç³¿êÐèþÐèþ$$ è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

6. Write an essay on eradication of untouchability in India. 

 ¿êÆæÿ™èþ §óþÔèýÐèþ$$ÌZ  BçÜµ –ÔèýÅ™èþ °ÐéÆæÿ×ý è̄þ$ Væü$Ç…_ ÑÐèþÇ…ç³#Ðèþ$$. 

SECTION B — (3 × 4 = 12 marks) 

Write a short notes on any THREE of the following. 

7. Astanga Marga 

 AÚët…Væü Ðèþ*ÆæÿYÐèþ$$ 

8. Art of Pallavas 

ç³ËÏÐèþ#Ë ¯ésìý ÕËµMæüâæý 



   

9. Eswarchandra Vidyasagar 

 DÔèýÓÆæÿ^èþ…{§æþ Ñ§éÅÝëVæüÆŠÿ 

10. Bhakti Movement 

 ¿æýMìü¢ E§æþÅÐèþ$… 

11. Sati Sahagamana 

 çÜ¡ çÜçßýVæüÐèþ$ è̄þÐèþ$$ 

12. Ahimsa 

 Aíßý…Ýë 

13. Tripithakas 

 {†ï³uæÿMæüÐèþ$$Ë$ 

14. Arya Samaj 

 BÆæÿÅ çÜÐèþ*fÐèþ$$ 

SECTION C — (3 × 4 = 12 marks) 

Answer ALL questions. 

15. Fill in the blanks : 

 RêäË è̄þ$ ç³NÇ…^èþ$Ðèþ$$. 

(a) Triratnas are associated with —————— religion. 

 {†Ææÿ™èþ²Ðèþ$$Ë$ —————— Ðèþ$™èþÐèþ$$ è̄þMæü$ çÜ…º…«̈ …_ è̄þÑ 

(b) Theosophical society established by ——————. 

 ¨ÐèþÅ gêq̄ èþ çÜÐèþ*fÐèþ$$ è̄þ$ Ýë¦í³…_ è̄þ ÐéÆæÿ$ —————— 

(c) Astadiggaja’s are associated with ——————. 

 AçÙt ¨VæüYfÐèþ$$Ë$ D BÝë¦̄ èþ MæüÐèþ#Ë$ —————— 

(d) Founder of Din-i-illahi is ——————. 

 ©¯Œþ& G& CÌêÏíßý Ýë¦ç³Mæü$yæþ$ —————— 



   

16. Choose the correct answer : 

 çÜÇÄñý$Ō èþ çÜÐèþ*«§é è̄þÐèþ$$ {ÐéÄæý$$Ðèþ$$. 

(a) Town planning explained in  

 ç³rt×ý {ç³×êãMæü C…§æþ$ÌZ ÑÐèþÇ… è̂þºyìþ è̄þ¨ 

 (i) British rule (ii) Indian Rule 

  {¼sîýçÙ$ ç³Ç´ëË è̄þ   ¿êÆæÿ™èþ ç³Ç´ëË è̄þ 

 (iii) Greek Civilisation (iv) Harappan Civilisation 

  {XMæü$Ë ¯éVæüÇMæü™èþ  çßýÆæÿ´ëµ çÜ…çÜP –† 

 

(b) Bipin Chandra Paul is a  

 ¼í³ Œ̄þ è̂þ…{§æþ´ëÌŒý JMæü   

 (i) Historian (ii) Cinema Actor 

  ^èþÇ{™èþM>Ææÿ$yæþ$  è̄þr$yæþ$ 

 (iii) Freedom Fighter (iv) Novelist 

  ÝëÓ™èþ…{™èþÅÄñý*«§æþ$yæþ$  è̄þÐèþÌêÆæÿ^èþÆÿ$$™èþ 

(c) Artha Sastra is written by 

 AÆæÿ¦ Ô>çÜ̂ Ææÿ^èþÆÿ$$™èþ 

 (i) Plato  (ii) Aristotle 

   õ³ÏsZ   AÇÝëtsìýÌŒý 

 (iii) David boon (iv) Chanakya 

  yóþÑyŠþº* Œ̄þ  ^é×ý$Mæü$Åyæþ$ 

(d) Dhanya Katakam is a capital of  

 «§é è̄þÅMæürMæüÐèþ$$ ÒÇ Æ>f«§é° 

 (i) Pallavas (ii) Cholas 

  ç³ËÏÐèþ#Ë$  ^øâæý$Ë 

 (iii) Mouryas (iv) Guptas 

  Ðèþ˜Ææÿ$ÅË$  Væü$ç³#¢Ë$ 

 



   

17. Match the following : 

 f™èþç³Ææÿ$^èþ$Ðèþ$$. 

(a) Pasupati  (i) Tirthankar 

  ç³çÜ$Ðèþ†   ¡Ææÿ®…M>Ææÿ$Ë$  

(b) Vardhaman Mahavir (ii) Widow’s remarriage 

 ÐèþÆæÿ®Ðèþ* è̄þ Ðèþ$àÒÆæÿ$Ë$  ç³# è̄þÇÓÐéçßýÐèþ$$ 

(c) Eswar Chandra Vidyasagar (iii) Ramakrishna Mission 

 DÔèýÓÆæÿ ^èþ…{§æþ Ñ§éÅÝëVæüÆŠÿ  Æ>Ðèþ${MìüçÙ~ Ñ$çÙ Œ̄þ 

(d) Swami Vivekananda (iv) Indus Valley Civilization 

 ÝëÓÑ$ ÑÐóþMæü è̄þ…§æþ  íÜ…«§æþ* ¯éVæüÇMæü™èþ 

———————— 

  



   

  

     (DBCO11) 

B.Com. DEGREE EXAMINATION, NOVEMBER 2021. 

First Year 

BUSINESS ECONOMICS 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4 × 3 = 12 marks) 

Answer any FOUR of the following questions. 

1. Economic activities. 

BÇ®Mæü M>ÆæÿÅMæüÌê´ëË$. 

2. Consumer equilibrium. 

Ñ°Äñý*Væü§éÆæÿ$° çÜÐèþ$™úËÅ™èþ. 

3. Demand function. 

yìþÐèþ*…yæþ$ çœË…. 

4. Perfectly inelastic demand. 

ç³NÇ¢ AÐéÅMø è̂þ yìþÐèþ*…yæþ$. 

5. Production function. 

E™èþµ†¢ çœË…. 

6. Law of returns to scale. 

™èþÆæÿà è̄þ è̄þ$çÜÇ…_ {ç³†çœÌêË$. 

7. Balance of Trade. 

ÐèþÆæÿ¢Mæü ÔóýçÙÐèþ$$. 

8. Kinked demand curve. 

Mìü…Mîü yìþÐèþ*…yæþ$ ÆóÿQ. 

SECTION B — (2 × 8 = 16 marks) 

Answer any TWO of the following. 

9. Difference between Micro and Macro Economics. 



   

çÜ*Mæü‡ Ðèþ$ÇÄæý$$ çÜ*¦Ë AÆæÿ¦Ô>çÜÐ̂èþ$$ Ðèþ$«§æþÅ »ôý«§éË$. 

10. “All direct costs are variable and all indirect costs are fixed” Comment. 

“A°² {ç³™èþÅ„æü ÐèþÅÄæý*Ë$ ^èþÆæÿ ÐèþÅÄæý*Ë$ Ðèþ$ÇÄæý$$ A°² ç³È„æü ÐèþÅÄæý*Ë$ íÜ¦Ææÿ ÐèþÅÄæý*Ë$” – M>Ððþ$…sŒý. 

11. What is monopoly and explain price and output determination under monopoly. 

HMæüÝëÓÐèþ$Å… A è̄þV> ó̄þÑ$? HMæüÝëÓÐèþ$Å…ÌZ «§æþÆæÿ Ðèþ$ÇÄæý$$ E™èþµ†¢ °Ææÿ~Äæý*°² ÑÐèþÇ… è̂þ…yìþ. 

12. Explain the measurement methods of National Income. 

gê¡Äæý*§éÄæý*°² Ðèþ$¨…ç³# ó̂þõÜ ç³§æþ®™èþ$Ë$ Ìôý§é ÌñýMìüP…^óþ ç³§æþ®™èþ$Ë$ ÑÐèþÇ…^èþ…yìþ. 

SECTION C — (3 × 14 = 42 marks) 

Answer any THREE of the following questions. 

13. Define Business cycles and Explain various phases of Business cycle. 

ÐéÅ´ëÆæÿ ^èþ{M>Ë è̄þV> ó̄þÑ$? Ðèþ$ÇÄæý$$ ÑÑ«§æþ ÆæÿM>Ë ÐéÅ´ëÆæÿ ^èþ{M>Ë §æþÔèýË è̄þ$ ÑÐèþÇ…^èþ…yìþ. 

14. Explain the law of diminishing marginal utility and exceptions to it. 

„îü×Z´ë…™èþ {ç³Äñý*f è̄þ çÜ*{™é°² ÑÐèþÇ…_ Ðèþ$ÇÄæý$$ Ñ$ è̄þàÆÿ$$…ç³#Ë$ ™ðþËµ…yìþ. 

15. Explain the shape of cost curves of a firm in the short and long run. 

çÜ…çÜ¦ Äñý$$MæüP çÜÓËµM>ÍMæü, ©ÆæÿƒM>ÍMæü ÐèþÅÄæý$ÆóÿQË BMæü–†° ™ðþËµ…yìþ. 

16. Explain the price and output determination under perfect competition. 

ç³Çç³NÆæÿ~ ´ùsîý Ðèþ*ÆðÿPsŒýÌZ «§æþÆæÿ Ðèþ$ÇÄæý$$ E™èþµ†¢ °Ææÿ~Äæý*°² ÑÐèþÇ…^èþ…yìþ. 

17. Discuss the role of WTO in promoting international trade. 

A…™èþÆ>j¡Äæý$ ÐéÅ´ëÆæÿ AÀÐèþ– ®̈ÌZ WTO Äñý$$MæüP ´ë{™èþ è̄þ$ è̂þÇa… è̂þ$Ðèþ$$. 

18. Explain the marginal productivity theory and modern theory of rent. 

E´ë…™èþ E™éµ§æþMæü™é íÜ§é®…™é°² ÑÐèþÇ… è̂þ…yìþ Ðèþ$ÇÄæý$$ B«§æþ$°Mæü ¿êrMæü íÜ§é®…™é°² ÑÐèþÇ…^èþ…yìþ. 

––––––––––––– 

 

 

 

 

 

 

 

 



   

 

     (DBCO12) 

B.Com. DEGREE EXAMINATION, NOVEMBER 2021. 

First Year 

FINANCIAL ACCOUNTING – I 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4 × 3 = 12 marks) 

Answer any FOUR of the following questions. 

1. Cash Discount and Trade Discount 

 è̄þVæü§æþ$ yìþÝûP…r$, ÐèþÆæÿ¢Mæüç³# yìþÝûP…r$ 

2. Objects of Trial Balance 

 A…Mæü×ê E§óþªÔ>ÅË$ 

3. Need for Bank Reconciliation Statement 

 »ê…Mæü$ °ËÓË çÜÐèþ$ è̄þÓÄæý$ ç³sîýt BÐèþÔèýÅMæü™èþ  

4. Accommodation Bills 

 çÜÆæÿ$ª»êr$ ¼Ë$ÏË$ 

5. Errors of principles 

 íÜ§é®…™èþ È™éÅ§øÚëË$ 

6. Methods of providing depreciation 

 ™èþÆæÿ$Væü$§æþË è̄þ$ HÆæÿµÆæÿ^èþ$ ç³§æþ®™èþ$Ë$ 

7. Capital and Revenue Expenditure 

 Ðèþ$*Ë«§æþ è̄þ, Æ>ºyìþ ÐèþÅÄæý$… 

8. Features of consignment  



   

 Mæü Œ̄þòÜŌ ŒþÐðþ$…r$ Ë„æü×êË$. 

SECTION B — (2 × 8 = 16 marks) 

Answer any TWO of the following questions. 

9. What are the advantages and limitation of financial accounting? 

 òœŌ é°ÛÄæý$ÌŒý AMú…sìý…VŠü {ç³Äñý*f¯éË è̄þ$ ç³ÇÑ$™èþ$Ë è̄þ$ ™ðþËµ…yìþ. 

10. Journalise the following transactions  

2020 March 1 Commenced Business with cash Rs. 20,000 

2 Deposited Rs. 15,000 in Bank 

5 Purchased goods from Mukund Rs. 5,000 

10 Sold goods to Kiran Rs. 15,000 

12 Sold goods to Murali Rs. 18,000 

13 Returned goods to Mukund 2000 

14 Paid Mukund by cheque Rs. 2,800 in full settlement of his account  

15 Cash received from Murali Rs. 15,000 

20 Purchased furniture Rs. 4,000 

25 Paid salaries by cheque Rs. 3,500 

 {Mìü…¨ ÐèþÅÐèþàÆ>ËMæü$ _sêtç³§æþ$ªË è̄þ$ {ÐéÄæý$…yìþ. 

2020 Ðèþ*Ça  
1 

ÐéÅ´ëÆ>°²  20,000 ¯èþVæü§æþ$™ø {´ëÆæÿ…À…^èþç³ºyìþ è̄þ¨ 

2 »ê…Mæü$ ÌZ yìþ´ëhsŒý ó̂þíÜ¯èþ¨ Ææÿ*. 15,000  

5 Ðèþ$$Mæü$…§æþ$ è̄þ$…yìþ Mö è̄þ² çÜÆæÿ$Mæü$Ë$ Ææÿ*. 5,000 

10 MìüÆæÿ×ŠýMæü$ AÑ$Ã è̄þ çÜÆæÿ$Mæü$Ë$ Ææÿ*. 15,000 

12 Ðèþ$$Ææÿã AÑ$Ã¯èþ çÜÆæÿ$Mæü$ Ææÿ*. 18,000 



   

13 Ðèþ$$Mæü$…§ŠþMæü$ Ðéç³çÜ$ ^óþíÜ¯èþ çÜÆæÿ$Mæü$ Ææÿ*. 2,000 

14 Ðèþ$$Mæü$…§Šþ Mæü$ ð̂þÍÏ…_ è̄þ ÐèþËíÜ è̄þ Ððþ$$™é¢°²Mìü ç³NÇ¢ ç³ÇÚëPÆæÿ…V> ^ðþMæü$P §éÓÆ> ð̂þÍÏ…_ è̄þ¨ Ææÿ*. 

2,800 

15 Ðèþ$Ææÿã è̄þ$…yìþ Ðèþ_a è̄þ ¯èþVæü§æþ$ Ææÿ*. 15,000 

20 çœÈ² è̂þÆæÿ$ Mö è̄þ$VøË$  Ææÿ*. 4,000 

25 ^ðþMæü$P §éÓÆ> ^ðþÍÏ…_ è̄þ i™éË$ Ææÿ*. 3,500 

11. Arun sold goods to Bhanu for Rs. 25,000 and drew a 3 months bill for the same on 

Bhanu who accepted in. The bill is discounted at Bank for Rs. 24,800. On due date 

Bhanu could not honour the bill and requested for renewal with an interest of Rs. 

200 for another period of  

2 months and Arun agreed for the same. On due date, the new bill is honoured.  

 Pass journal entries in the books of Arun.  

 AÆæÿ$×Šý 25,000 Ë çÜÆæÿ$Mæü$Ë è̄þ$ ¿ê è̄þ$Mæü$ AÑ$Ã B Ððþ$$™é¢°Mìü 3 ¯ðþËË ¼Ë$Ï̄ èþ$ {ÐéÄæý$V> ¿ê è̄þ$ 
A…XMæüÇ…_ç³…yìþ¯éyæþ$ B ¼Ë$Ï̄ èþ$ 24,800 ËMæü$ »ê…Mæü$ Ðèþ§æþª yìþÝûP…sŒý ^óþçÜ$Mæü$¯é²yæþ$ Væüyæþ$ç³#¯éyæþ$ 
¿ê è̄þ$ ¼Ë$Ï Ððþ$$™èþ¢… ð̂þÍÏ…^èþ ÌôýMæü è̄þÒ±MæüÆæÿ×ý è̄þ$ {ç³†´ë¨…_¯éyæþ$. AÆæÿ$×Šý Ðèþ$Æø 2 ð̄þËËMæü$ 200Ë Ðèþyîþz™ø 

Mö™èþ¢ ¼Ë$Ï̄ èþ$ {ÐéÄæý$V> ¿ê è̄þ$ A…XMæüÇ…_¯éyæþ$ Væüyæþ$ç³#¯éyæþ$ Mö™èþ¢ ¼Ë$Ï B§æþÆæÿ×ý AÆÿ$$ è̄þ¨. AÆæÿ$×Šý 
ç³#çÜ¢M>ËÌZ _sêtç³§æþ$ªË è̄þ$ {ÐéÄæý$…yìþ. 

12. Mr. X took a lease of land for Rs. 20,000 for 4 years. He charged depreciation by 

annuity method presuming  the rate of interest at 6% p.a. The annuity tables show 

that the annual amount necessary to write off Re. 1 in 4 years at 6% p.a. is 

0.288591. Prepare Lease account.  

 X Mö…™èþ ¿æý*Ñ$° 4 çÜ…‘‘ Mìü 20,000 ËMæü$ MúË$Mæü$ ¡çÜ$Mö° ÐéÇÛMæü ç³§æþ®† {ç³M>Ææÿ… çÜ…‘‘Mìü 6% Ðèþyîþz° 
Ñ«̈ çÜ*¢ ™èþÆæÿ$Væü$§æþËMæü$  HÆæÿµÆæÿ^èþyé°Mìü °Ææÿ~Æÿ$$…_¯éyæþ$. ÐéÇÛMæü ç³sìýt MæüË {ç³M>Ææÿ… 1 Ææÿ*‘‘ 4 çÜ…‘‘ ËÌZ 6% 

Ðèþyîþz™ø Ææÿ§æþ$ªç³Ææÿ^èþyé°Mìü {ç³† çÜ…‘‘ 0.288591 AÐèþçÜÆæÿ… MúË$ Rê™é è̄þ$ ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 

SECTION C — (3 × 14 = 42 marks) 

Answer any THREE of the following questions. 

13. Distinguish between Provisions and Reserves. What are different types of 

reserves? 

 HÆ>µr$Ï, ÇfÆæÿ$ÓË$ Ðèþ$«§æþÅ VæüË ™óþyéÌôýÑ? ÑÑ«§æþ ÆæÿM>Ë ÇfÆæÿ$ÓÌôýÑ. 



   

14. Enter the following transactions in a Three Column Cash Book. 

2020 Jan. 1 Cash in hand Rs. 410 Balance at Bank Rs. 8,920 

2 Cash sales Rs. 4,500 

3 Paid into Bank Rs. 4,000 

2020 Jan. 5 Purchased stationary Rs. 100 

8 Paid Mahesh by cheque Rs. 280  

 Discount Received Rs. 20 

12 Gave a cheque for cash purchases Rs. 1,500 

15 Drew from Bank for personal use Rs. 500 

18 Received cheque from Suresh for Rs. 1,970 in full  
settlement of account of Rs. 2,000 

20 Drew from Bank Rs. 1,000 

21 Paid Wages Rs. 100 

25 Bank returns Suresh’s cheque as dishnoured 

31 Bank charges as per pass book Rs. 10 

 {Mìü…¨ ÐèþÅÐèþàÆ>Ë è̄þ$ Ðèþ$*yæþ$ ÐèþÆæÿ$çÜË è̄þVæü§æþ$ ç³#çÜ¢Mæü…ÌZ è̄þÐðþ*§æþ$ ó̂þÄæý$…yìþ. 

2020 f è̄þÐèþÇ . 1 ^óþ†ÌZ è̄þVæü§æþ$ Ææÿ*. 410 »ê…Mæü$ °ËÓ Ææÿ*. 8,920 

2 è̄þVæü§æþ$ AÐèþ$ÃM>Ë$ Ææÿ*. 4,500 

3 »ê…Mæü$ÌZ ÐóþíÜ è̄þ¨ Ææÿ*. 4,000 

5 õÜtçÙ è̄þÈ Mö è̄þ$VøË$ Ææÿ*. 100 

8 Ðèþ$õßý‹ÙMæü$ ð̂þMæü$P §éÓÆ> ^ðþÍÏ…_ è̄þ¨. 280 C_a è̄þ yìþÝûP…r$ 20 

12 è̄þVæü§æþ$ Mö è̄þ$VøË$ ð̂þMæü$P §éÓÆ> ^ðþÍÏ…ç³# Ææÿ*. 1,500 

15 Ý÷…™èþ Eç³Äñý*V>°Mìü »êÅ…Mæü$ è̄þ$…yìþ ¡íÜ è̄þ¨ Ææÿ*. 500 

18 çÜ$Æóÿ‹Ù è̄þ$…yìþ Æ>ÐèþËíÜ è̄þ Ææÿ*. 2,000 »êMîü ¡Æ>Ã è̄þ… °Ñ$™èþ¢… Ææÿ*. 1,970 ó̂þMæü$P Ðèþ_a…¨ 



   

20 »êÅ…Mæü$ è̄þ$…yìþ ¡íÜ¯èþ¨ Ææÿ*. 1,000 

21 ^ðþÍÏ…_ è̄þ Ðóþ™èþ¯éÆÿ$$ Ææÿ*. 100 

25 çÜ$Æóÿ‹Ù ð̂þMæü$P A¯é§æþÆæÿ×ý AÆÿ$$ Ðéç³òÜŌ èþ¨ 

31 ´ë‹Ü ç³#çÜ¢Mæü… {ç³M>Ææÿ… »êÅ…Mæü$ QÆæÿ$aË$ Ææÿ*. 10 

15. From the following  balances of Srinivas prepare final accounts as on 31st 

December 2019. 

 Rs.  Rs. 

Stock on 1.1.2019 96,000 Returns inwards 1,000 

Wages 28,000 Sundry debtors 35,000 

Salaries 4,000 Office expenses 5,000 

Railway freight  5,000 Income Tax 500 

Purchases 1,20,000 Drawings 6,500 

Interest on overdraft 200 Capital 50,000 

Bills Receivable 6,000 Bills Payable 5,000 

Rent 2,000 Bank Loan 4,000 

Plant and Machinery 20,000 Sales 2,50,000 

Travelling expenses 5,000 Reserve for Bad debts 5,000 

Repairs to plant 1,600 Discount on purchases 4,000 

Cash in hand 5,600 Sundry creditor  23,300 

Cash at bank 1,800 Returns outwards  1,500 

Buildings 5,000   

Adjustments : 

(a) Stock on 31st Dec. 2019 was Rs. 35,000 

(b) Write off Rs. 3,000 bad debts and maintain a  reserve of 5% on Debtors 

(c)  Depreciate plant and Machinery at 10% 

(d) Allow interest on capital at 5% per annum 

(e) Wages and salaries are unpaid to the extent of Rs. 1,500 and Rs. 450 and 

Rent unpaid Rs. 400. 

31.12.2019 ¯ésìý }°Ðé‹Ü Äñý$$MæüP {Mìü…¨ ÑÐèþÆ>Ë è̄þ$…yìþ Ðèþ$$W…ç³# ÌñýMæüPË è̄þ$ ™èþÄæý*Ææÿ$ ó̂þÄæý$…yìþ. 

 Ææÿ*.  Ææÿ*. 



   

1.1.2019 çÜÆæÿ$Mæü$  °ËÓ 96,000 Ðèþ_a è̄þ Ðéç³çÜ$Ë$ 1,000 

Ðóþ™èþ¯éË$ 28,000 ÑÑ«§æþ º$$×ý{VæüçÜ$¢Ë$ 35,000 

i™éË$ 4,000 BïœçÜ$ QÆæÿ$aË$ 5,000 

ÆðÿOÌôýÓ [òœOsŒý 5,000 B§éÄæý$ ç³¯èþ$² 500 

Mö è̄þ$VøË$ 1,20,000 Ý÷…™èþÐéyæþM>Ë$ 6,500 

KÐèþÆŠÿ {yéçœ#t ò³O Ðèþyîþz 200 Ðèþ$*Ë«§æþ è̄þ… 50,000 

ÐèþçÜ*Ë$ ¼Ë$ÏË$ 6,000 ^ðþÍÏ…ç³# ¼Ë$ÏË$ 5,000 

A§ðþª 2,000 »êÅ…Mæü$ º$$×ý… 4,000 

´ëÏ…r$ Äæý$…{™éË$ 20,000 AÐèþ$ÃM>Ë$ 2,50,000 

{ç³Äæý*×ý QÆæÿ$aË$ 5,000 Æ>°»êMîüË °«̈  5,000 

´ëÏ…r$ Ðèþ$ÆæÿÐèþ$Ã™èþ$Ë$  1,600 Mö è̄þ$VøË$ ò³O yìþÝûP…r$ 4,000 

^óþ†ÌZ è̄þVæü§æþ$ 5,600 ÑÑ«§æþ º$$×ý§é™èþË$ 23,300 

»ê…Mæü$ÌZ è̄þVæü§æþ$ 1,800 ç³…í³¯èþ Ðéç³çÜ$Ë$ 1,500 

¿æýÐèþ¯éË$ 5,000   

çÜÆæÿ$¦»êr$Ï : 

(a) 31&12&2019 è̄þ çÜÆæÿ$Mæü$ °ËÓ Ææÿ*. 35,000 

(b) Æ>°»êMîüË$ Ææÿ*. 3,000 Ææÿ§æþ$ªç³Ææÿ_ º$$×ý{VæüçÜ$¢Ë Ò$§æþ Æ>°»êMîüË °«̈ ° 5% E…^èþÐèþÌñý è̄þ$. 

(c)  ´ëÏ…r$ Äæý$…{™éË ò³O  10% ™èþÆæÿ$Væü$§æþË è̄þ$ HÆæÿµÆæÿ^èþÐèþÌñý è̄þ$ 

(d) Ðèþ$*Ë«§æþ è̄þ… Ò$§æþ  5% Ðèþyîþz ° ÌñýMæüPMæürtÐèþÌñý è̄þ$ 



   

(e) ^ðþÍÏ…^èþÐèþËíÜ¯èþ Ðóþ™èþ¯éË$ , i™éË$ ÐèþÆæÿ$çÜV> Ææÿ*. 1,500 Ðèþ$ÇÄæý$$ Ææÿ*. 450 ^ðþÍÏ… è̂þ ÐèþËíÜ è̄þ A§ðþª 

Ææÿ*. 400. 

16. From the following  particulars of a merchant prepare Bank Reconciliation 

statement as on 31st December 2019. 

(a) Cheques issued for Rs. 7,000 on Dec. 26th of which cheques worth Rs. 3,000 

only had been encashed upto 31st December 2019. 

(b) Cheques amounting to Rs. 8,500 had been deposited into bank for collection 

on Dec. 28th of which Rs. 8,000 cheques have been credited in the pass book 

on January 4th 2020.  

(c) Bank charged Rs. 500 interest on overdraft not recorded in cash book before  

Dec. 31, 2019. 

(d) A direct payment of Rs. 1,500 and interest on investments Rs. 2,000 were 

recorded in only pass book but not formed in cash book. 

(e) Credit side of cash book bank column was cast short by Rs. 1,000. 

(f) Overdraft Balance as per pass book on 31st December 2019 was Rs. 18,000. 

JMæü ÐéÅ´ëÆæÿ Äñý$$MæüP {Mìü…¨ ÑÐèþÆ>Ë è̄þ$…yìþ 31.12.2019 ¯ésìý »êÅ…Mæü$ °ËÓË çÜÐèþ$ è̄þÓÄæý$ ç³sîýt° 
™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 

(a) yìþÔèý…ºÆæÿ$ 26 è̄þ gêÈ ^óþíÜ è̄þ 7,000 Ë ð̂þMæü$PËÌZ 31.12.2019 ÌZV> 3,000 ð̂þMæü$PË$ 
Ðèþ*{™èþÐóþ$ è̄þVæü§æþ$ ^ðþÍÏ… è̂þºyìþ¯éÄæý$$. 

(b) yìþÔèý…ºÆæÿ$ 28 è̄þ ÐèþçÜ*Ë$ °Ñ$™èþ¢… »êÅ…Mæü$ÌZ yìþ´ëhr$ ^óþíÜ è̄þ 8500 Ë ^ðþMæüPËÌZ 8000 
^ðþMæü$PË$ f¯èþÐèþÇ 4, 2020 è̄þ ´ë‹Ü ç³#çÜ¢Mæü…ÌZ {MðüyìþsŒý AÆÿ$$¯éÆÿ$$  . 

(c) KÐèþÆŠÿ {yéç³š ò³O Ðèþyîþz 500 »ê…Mæü$ ´ë‹Ü ç³#çÜ¢Mæü…ÌZ  {ÐéíÜ¯é yìþÔèý…ºÆæÿ$ 31,2019 ÌZV> è̄þVæü§æþ$ 

ç³#çÜ¢Mæü…ÌZ è̄þÐðþ*§æþ$ M>Ìôý§æþ$. 

(d) ó̄þÆæÿ$V> »êÅ…Mæü$ÌZ ^ðþÍÏ…_ è̄þ ºyìþ è̄þ 1500 ò³r$tºyæþ$Ë ò³O Ðèþyîþz 2000 ´ë‹Ü ç³#çÜ¢Mæü…ÌZ è̄þÐðþ*§æþ$ 
AÆÿ$$¯é þ è̄þVæü§æþ$ ç³#çÜ¢Mæü…ÌZ Mæü è̄þºyæþÌôý§æþ$ 

(e) è̄þVæü§æþ$ ç³#çÜ¢Mæü…ÌZ {MðüyìþsŒý ÐðþOç³# »êÅ…Mæü$ ÐèþÆæÿ$çÜ 1000 ™èþMæü$PÐèþV> Mæü*yìþ¯éÆæÿ$ 

(f) yìþÔèý…ºÆæÿ$ 31.2019 è̄þ ´ë‹Ü ç³#çÜ¢Mæü…ÌZ {ç³M>Ææÿ… KÐèþÆŠÿ {yéç³#t °ËÓ 18.000. 

17. Sathish of Srikakulam consigned 2,000 cases to Vijay of Vijayawada costing 300 

each at proforma invoice price of Rs. 350 each. Sathish paid freight Rs. 10,000. 

During Transit  

200 cases were totally damaged and insurance claim received Rs. 15,000. Vijay 

took delivery of the remaining cases and paid Rs. 30,000 toward cleaning charges 

to godown. Vijay has sent a bank draft for Rs. 15,000 as advance to Sathish. Vijay 



   

sold 1,600 cases at  

Rs. 440 each and spent Rs. 10,000 selling expenses and allowed him a commission 

of 10% on sales. He settled his account by sending a demand draft to the balance 

amount. Show ledger account in the books of Sathish. 

 }M>Mæü$âæý…ÌZ° çÜ¡‹Ù 2000 MóüçÜ$Ë çÜÆæÿ$Mæü$¯èþ$ Mæü Œ̄þòÜŌ ŒþÐðþ$…r$ Ò$§æþ ÑfÄæý$ÐéyæþÌZ° ÑfÄŒý$Mæü$ JMöPMæüsìý 
300 Ë QÈ§æþ$ VæüËÑ C¯éÓÆÿ$$‹Ü «§æþÆæÿ 350 V> {ÐéíÜ ç³…í³¯éyæþ$ çÜ¡‹Ù [òœOsŒý 10,000 ^ðþÍÏ…_¯éyæþ$ 
Ðèþ*ÆæÿYÐèþ$«§æþÅ…ÌZ 200 MóüçÜ$Ë$ è̄þçÙt ´ùV> ÁÐèþ*Mðü•ÏÐŒþ$ 15,000 ÐèþçÜ*ÌñýŌ èþ¨ Ñ$WÍ è̄þ MóüçÜ$Ë è̄þ$ ÑfÄŒý$ 

¡çÜ$Mö° Wyæþz…WMìü ^óþÆæÿayé°Mìü MìüÏÄæý$Ç…VŠü QÆæÿ$aË$ 30,000 ^ðþÍÏ…_¯éyæþ$ ºÄæý$¯é °Ñ$™èþ¢… ÑfÄŒý$ 
15,000 »ê…Mæü$ {yéç³#t̄ èþ$ çÜ¡‹ÙMæü$ ç³…í³ 1600 MóüçÜ$Ë¯èþ$ JMöPMæüPsìý 440 ËMæü$ AÑ$Ã AÐèþ$ÃMæü… 
QÆæÿ$aË$ 10,000 ^ðþÍÏ…_¯éyæþ$ A™èþ°Mìü AÐèþ$ÃM>Ë Ò$§æþ 10% MæüÑ$çÙ¯Œþ A è̄þ$Ðèþ$†…_¯éÆæÿ$ _ÐèþÇMìü 
Æÿ$$ÐèþÓ§óþÍ è̄þ Ððþ$$™é¢°Mìü {yéç³#t̄ èþ$ ç³…í³ ™èþ$¨ ç³ÇçÙPÆæÿ… ^óþíÜ¯éyæþ$. çÜ¡‹Ù ç³#çÜ¢M>ËÌZ BÐèþÆ>j Rê™éË è̄þ$ 

^èþ*ç³…yìþ. 

18. Raju and Ramesh entered into Joint Venture to construct a building for 3,00,000. 

A Joint Bank Account was opened in  which Raju contributed Rs. 1,00,000 and 

Ramesh contributed Rs. 50,000. Profits and losses were to be shared in the ratio of 

2:1. Other details: wages paid Rs. 80,000, Materials Rs. 1,60,000, Materials 

supplied by Raju Rs. 10,000 and Ramesh  

Rs. 8,000. Contract was completed and contract amount was received. The unused 

material was valued at Rs. 10,000 which was taken by Ramesh. 

Prepare necessary ledger accounts. 

Æ>k, ÆæÿÐóþ$‹ÙË$ EÐèþ$Ãyìþ ÐéÅ´ëÆæÿ…ÌZ ó̂þÇ EÐèþ$ÃyìþV> JMæü ¿æýÐèþ¯é°² 3,00,000 °ÆæÿÃ…^èþyé°Mìü Jç³µ…§æþ… 
Mæü$§æþ$Ææÿ$aMæü$¯é²Ææÿ$. EÐèþ$ÃyìþV> JMæü »êÅ…Mæü$ Rê™é è̄þ$ {´ëÆæÿ…À…_ A…§æþ$ Æ>k 1,00,000 ÆæÿÐóþ$‹Ù 

50,000  yìþ´ëhsŒý ^óþíÜ¯éÆæÿ$. Ìê¿æý è̄þÚëtË è̄þ$ 2:1 °çÙµ†¢ÌZ ç³… è̂þ$Mæü$…sêÆæÿ$ C™èþÆæÿ ÑÐèþÆ>Ë$ {Mìü…¨ 
Ñ«§æþ…V> E¯é²Æÿ$$ ð̂þÍÏ…_ è̄þ Ðóþ™èþ¯éË$ 80,000 ÝëÐèþ${W ÑË$Ðèþ 1,60,000 Æ>k 10,000 ÑË$ÐðþŌ èþ 
ÝëÐèþ${W ÆæÿÐóþ$‹Ù 8000 ÑË$ÐðþŌ èþ ÝëÐèþ${W çÜÆæÿçœÆ> ó̂þíÜ¯éÆæÿ$ M>…{sêMæü$t çœNÇ¢ M>V> M>…{sêMæü$t Ððþ$$™èþ¢… 
ÐèþçÜ*ÌñýŌ èþ¨. Eç³Äñý*W… è̂þMæü$…yé Ñ$WÍÄæý$$ è̄þ² ÝëÐèþ${W° 10,000 ËMìü ÑË$Ðèþ Mæüsìýt ÆæÿÐóþ$‹Ù ¡çÜ$Mæü$¯é²yæþ$. 

AÐèþçÜÆæÿÐðþ$Ō èþ BÐèþÆ>j Rê™éË è̄þ$ ™èþÄæý*Ææÿ$^óþÄæý$…yìþ. 

 

_________________ 

  

     



   

(DBCO13) 

B.Com. DEGREE EXAMINATION, NOVEMBER 2021. 

First Year 

INDUSTRIAL ORGANISATION AND MANAGEMENT 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4 × 3 = 12 marks) 

Answer any FOUR of the following questions. 

1. Classification of industry. 

 ç³Ç{ÔèýÐèþ$ ÐèþÈYMæüÆæÿ×ý 

2. Features of cooperatives. 

 çÜçßýM>Ææÿ çÜ…çÜ¦Ë Ë„æü×ýÐèþ$$Ë$ 

3. Measurement of size of a firm. 

 çÜ…çÜ¦ ç³ÇÐèþ*×ý… MöË™èþË$ 

4. Privatisation. 

 [ò³OÐóþsîýMæüÆæÿ×ý 

5. Working capital source of finance. 

 °ÆæÿÓçßý×ý Ðèþ$*Ë«§æþ è̄þ… BÇ¦Mæü Ðèþ¯èþÆæÿ$ 

6. Small Scale Industry (SSI). 

 _ è̄þ² ™èþÆæÿà ç³Ç{ÔèýÐèþ$ 

7. Administration. 

 ç³Ç´ëË è̄þ 

8. Authority and power. 

 A«̈ M>ÆæÿÐèþ$$ Ðèþ$ÇÄæý$$ ÔèýMìü¢. 

SECTION B — (2 × 5 = 10 marks) 



   

Answer any TWO of the following questions. 

9. Aids to trade. 

 ÐèþÆæÿ¢Mæü çÜ§æþ$´ëÄæý$Ðèþ$$Ë$ 

10. Partnership deed. 

 ¿êVæüÝëÓÐèþ$Å Jç³µ…§æþÐèþ$$ 

11. Role of SEBI in regulating capital market. 

 Ðèþ$*Ë«§æþ è̄þ Ðèþ*ÆðÿPsŒý °Äæý$…{™èþ×ýÌZ SEBI Äñý$$MæüP ´ë{™èþ. 

12. Significance of planning. 

 {ç³×êãMæü {´ëÐèþ$$QÅ™èþ. 

SECTION C — (3 × 16 = 48 marks) 

Answer any THREE of the following questions. 

13. Define Business, Industry and Commerce. State the inter-relationship among them. 

 ÐéÅ´ëÆæÿÐèþ$$, ç³Ç{ÔèýÐèþ$ Ðèþ$ÇÄæý$$ Ðé×ìýfÅÐèþ$$ °ÆæÿÓ_…_, Ðésìý Ðèþ$«§æþÅ VæüË çÜçßýçÜ…º…«§æþÐèþ$$ ÑÐèþÇ…^èþ…yìþ. 

14. Define the terms memorandum of association and articles of association. Write the 

differences between them. 

 Mæü…ò³± çÜ…Ýë¦ç³ è̄þ ç³{™èþÐèþ$$ Ðèþ$ÇÄæý$$ Mæü…ò³± °Äæý$Ðèþ*ÐèþãË è̄þ$ °ÆæÿÓ_…_, B Æðÿ…yìþ…sìý Ðèþ$«§æþÅ VæüË 
¿ôý§æþÐèþ$$Ë$ ÑÐèþÇ… è̂þ…yìþ. 

15. Explain the comparative study of Public and Private sectors of industry. 

 ç³¼ÏMŠü Ðèþ$ÇÄæý$$ [ò³OÐóþr$ Ææÿ…Væü ç³Ç{ÔèýÐèþ$Ë ™èþ$Ë¯é™èþÃMæü ç³ÇÖË è̄þ ÑÐèþÇ… è̂þ…yìþ. 

16. Define stock exchange. Write the functions. 

 ÝëtMŠü GMóüa…h °ÆæÿÓ_…_, Ñ«§æþ$Ë$ ´÷…§æþ$ç³Ææÿ^èþ…yìþ. 

17. Significance of management. 

 Ðóþ$ ó̄þhÐðþ$…r$ {´ëÐèþ$$QÅ™èþ. 

18. Define the term organisation. Write the requisites of an efficient business 

organisation.  

 ÐéÅ´ëÆæÿ ÐèþÅÐèþçÜ¦̄ èþ$ °ÆæÿÓ_…_, A¨ çÜÐèþ$Ææÿ®Ðèþ…™èþÐèþ$$V> °ÆæÿÓÇ¢…^èþyé°Mìü BÐèþÔèýÅM>Ë$ ´÷…§æþ$ç³Ææÿ^èþ…yìþ. 
 

 



   

 (DBCO14) 

B.Com. DEGREE EXAMINATION, NOVEMBER 2021. 

First Year 

QUANTITATIVE TECHNIQUES – I 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4 × 3 = 12 marks) 

Answer any FOUR of the following questions. 

1. Functions of statistics. 

 Væü×ê…MæüÔ>çÜ̂… Ñ«§æþ$Ë$ 

2. Features of a good table. 

 Ðèþ$…_ ç³sìýtMæü Ë„æü×êË$. 

3. Merits of arithmetic mean. 

 A…Mæü Ðèþ$«§æþÅÐèþ$… Væü$×êË$ 

4. Necessity of diagrams in statistics. 

 Væü×ê…MæüÔ>çÜ̂…ÌZ _{™èþ ç³sêË BÐèþÔèýÅMæü™èþ 

5. Uses and limitations of range. 

 ÐéÅí³¢ Eç³Äñý*V>Ë$, ç³ÇÑ$™èþ$Ë$ 

6. Objectives of Regression analysis. 

 {ç³†VæüÐèþ$ è̄þ ÑÔóýÏçÙ×ý E§óþªÔ>ÅË$ 

7. A.P. ; G.P. and H.P. 

 A…Mæü {ÔóýÉìþ Væü$×ý{ÔóýÉìþ , çßýÆæÿ {ÔóýÉìþ 

8. Process of multiplication of matrices. 

 Ðèþ*{†MæüË Væü$×ýM>Ææÿ {ç³{MìüÄæý$. 



   

SECTION B — (2 × 8 = 16 marks) 

Answer any TWO of the following. 

9. Find out mode from the following data. 

 {Mìü…¨ §æþ™é¢…Ôèý… è̄þ$…yìþ »êçßý$âæýM>°² Mæü è̄þ$Vö¯èþ…yìþ. 

Marks : 

(Ðèþ*Ææÿ$PË$ ) 

0-10 10-20 20-30 30-40 40-50 50-60 60-70 

Students  

(Ñ§éÅÆæÿ$®Ë$) 

6 8 12 14 10 8 2 

10. Compute Rank correlation from the following data : 

 {Mìü…¨ §æþ™é¢…Ôèý… è̄þ$…yìþ Æ>Å…Mæü$ çÜçßýçÜ…º…«§é°² Mæü è̄þ$Vö è̄þ…yìþ. 

X 100 120 125 80 75 150 160 125 140 80 

Y  80 75 85 90 98 100 85 120 85 30 

11. Two cricketers have shown in following runs in 10 innings. Find out who is more 

consistent player. 

 C§æþªÆæÿ$ {MìüMðüsŒý BrV>Ë$Ï 10 C°²…Væü$ËÌZ {Mìü…¨ ç³Ææÿ$Væü$Ë è̄þ$ ^óþíÜ¯éÆæÿ$. GÐèþÆæÿ$ GMæü$PÐèþ íÜ¦Ææÿ™èþÓ… MæüÍW è̄þ 

BrV>yø ™ðþËµ…yìþ. 

A 40 35 80 100 20 50 65 72 70 80 

B  25 30 90 60 28 40 120 55 40 38 

12. Distinguish between primary data and secondary data. What are the sources of 

collection of primary data? 

 {´ë£æþÑ$Mæü §æþ™é¢…Ôèý…, ¨Ó¡Äæý$ §æþ™é¢…Ôèý… Ë Ðèþ$«§æþÅ VæüË ™óþyéÌôýÑ? {´ë£æþÑ$Mæü §æþ™é¢…Ôèý… õÜMæüÆæÿ×ýMæü$ VæüË ÑÑ«§æþ 

Ðèþ$*Ìê«§éÆ>Ë è̄þ$ ™ðþËµ…yìþ. 

SECTION C — (3 × 14 = 42 marks) 

Answer any THREE of the following questions. 

13. Define  correlation and explain different types of correlation. 

 çÜçßýçÜ…º…«§é°² °ÆæÿÓ_…_ çÜçßýçÜ…º…«§æþ… ÆæÿM>Ë è̄þ$ ™ðþËµ…yìþ. 

14. What is a matrix? What are various types of matrices? Explain them with 

examples. 



   

 Ðèþ*{†Mæü A è̄þV> ó̄þÑ$? ÑÑ«§æþ ÆæÿM>Ë Ðèþ*{†MæüÌôýÑ? E§éçßýÆæÿ×ý™ø ÑÐèþÇ… è̂þ…yìþ. 

15. From the following data find out Bowley’s coefficient of skewness. 

 {Mìü…¨ §æþ™é¢…Ôèý… è̄þ$…yìþ »oÎÐðþOçÙÐèþ$Å Væü$×ýM>°² Mæü è̄þ$Vö è̄þ…yìþ. 

x 0-20 20-40 40-60 60-80 80-100 100-120 

f 10 12 14 10 9 5 

16. Find out arithmetic mean and median from the following data. 

 {Mìü…¨ §æþ™é¢…Ôèý… è̄þ$…yìþ A…MæüÐèþ$«§æþÅÐèþ*°², Ðèþ$«§æþÅVæü™é°²  Mæü è̄þ$Vö è̄þ…yìþ. 

Wages (Ðóþ™èþ¯éË$ ) No. of workers (ç³°ÐéÇ   çÜ…QÅ) 

Above (ò³Ō èþ) 0 120 

Above (ò³Ō èþ)10 115 

Above (ò³Ō é) 20 100 

Above (ò³Ō èþ) 30 75 

Above (ò³Ō èþ) 40 40 

Above  (ò³Ō èþ) 50 25 

Above (ò³Ō èþ) 60 10 

17. In a market research survey 500 consumers were interviewed. It was found that 

350 consumers liked product A and 275 liked product B. What is his least number 

that must have liked both A and B  

 JMæü Ðèþ*ÆðÿPsŒý ç³ÇÔZ«§æþ è̄þ çÜÆóÿÓÌZ 500 Ðèþ$…¨ Ñ°Äñý*Væü§éÆæÿ$ËMæü$ çÜ…{ç³¨…^èþV> 350 Ðèþ$…¨ 

Ñ°Äñý*Væü§éÆæÿ$ Ë$ A ÐèþçÜ$¢Ðèþ# è̄þ$ Æÿ$$çÙtç³yìþ è̄þr$Ï 275 Ðèþ$…¨ B ÐèþçÜ$¢Ðèþ# è̄þ$ Æÿ$$çÙtç³yìþ è̄þr$Ï ™ðþÍµ¯éÆæÿ$. A, 

B A è̄þ$ Æðÿ…yæþ$ ÐèþçÜ$¢Ðèþ#Ë è̄þ* Æÿ$$çÙtç³yðþ ÐéÇ Mæü±çÜ çÜ…QÅ è̄þ$ ™ðþËµ…yìþ. 

18. Find the inverse of a matrix 
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
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−

−

−

=

111

110

312

A  

 A Ðèþ*{†Mæü Äñý$$MæüP ÑÌZÐèþ*°² Mæü è̄þ$Vö è̄þ…yìþ 
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